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Understanding the Regression Line

Ex. A social science teacher has collected data on the number of
days x per year a student plays sports and the number of hours
y of homework that the same student does per week. She came
up with the equation of the regreession line y = 40 - 0.3x.
Interpret the y-intercept and slope.



y-intercept is 40:
The average student who plays no sports spends 40 hours
a week on homework.

slope is -0.3:
As a student plays one more day of sports per year, they do
(0.3)(60) less minutes of homework per week.
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